“ RIVAL

POWERSPORTS

m GUN MOUNT INSTALLATION MANUAL

E ANLEITUNG ZUR MONTAGE DER GEWEHRHALTERUNG

For: OSM SM1000 (2024- )
4485221

| [eF

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU



“ RIVAL

POWERSPORTS

EN Regular fasteners
DE Normale Befestigung
RU LUTaTHbIA Kpenéx

EN Regular fasteners
DE Normale Befestigung
RU LUTaTHbIA Kpenéx

EN Screw a several turns
DE Mit wenigen Umdrehungen befestigen
RU BKpyTMTb Ha HECKOJIbKO 060poTOB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKOJIbKO 060poTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [iBmxeHue

EN Location / Position Arrow
DE Anordnung / Positionsrichtung
RU PacnonoxxeHue

EN Screw Arrow
DE Drehrichtung
RU MoBopoT



“ RIVAL

POWERSPORTS

<

EN Ratchet
DE Ratsche
RU TpewwéTtka

Bl

A
T o F o F >F o FPg Fe
\mf \m§

M6x20 x8 | M6x40 x2 | M6x80 x2 | M8x25 x2 | M6 x6 | M8 X2
7] 8] o] 10 1] 17

P 7 ® &
M8 x2 | M6 X2 | 26 x8 | 26 x10| 28 x4 | 210 X2
- 5 - - : @

X2 \\‘ x1 '// x1 x2




POWERSPORTS

=

~—

LEFT = RIGHT




“ RIVAL
POWERSPORTS

Bl1=B2




“ RIVAL
POWERSPORTS




